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Given below is a word, followed by three 

sentences that consist of that word. Identify the 

sentences(s) that best express(es) the meaning 

of the word. Choose option 5 ‘None of the 

above’ if the word is not suitable in any of the 

sentences.
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GRATE

A. The floor is scratched from where the chairs grate on it.

B. We grated our new neighbours and invited them to dinner.

C. Her heels got stuck in a New York City grate.

1. Only B

2. Only C

3. Only A

4. Both A and C

5. None of these
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POOL

A. Pool all your resources and invest in the dying company.

B. The crime scene technicians found a pool of blood on the 

floor.

C. It is okay to pool off after a tiresome office shift.

1. Only A

2. Both A and B

3. Only C

4. Only B

5. Both B and C https://t.me/EnglishbyShaliniMam
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CANON

A. The appointment violated the canons of fair play and equal 

opportunity.

B. There are several debates regarding Shakespeare's canon.

C. We all need a canon to enjoy the party.

1. Both A and C

2. Both A and B

3. Only A

4. Only B

5. Both B and C https://t.me/EnglishbyShaliniMam
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SOW

A. As you sow, so shall you reap.

B. We should sow seeds early in life to enjoy a good harvest.

C. We have a couple of sows in the backyard sty.

1. Only A

2. Only A and B

3. Only B and C

4. All A, B and C

5. None of the above

https://t.me/EnglishbyShaliniMam



https://t.me/EnglishbyShaliniMam

DENOUEMENT 

A. There are no new denouements or progress in the plan.

B. While I do not want to ruin the story for you, you should know 

the hero’s brother dies in the denouement. 

C. How can you say that the denouement condition of the poor 

people does not affect us?

1. All A, B and C

2. Only B and C

3. Only C

4. Only B

5. Only A https://t.me/EnglishbyShaliniMam
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Below a statement has been divided into four 

parts. The part in bold is fixed and contains no 

error. Among the other parts, find the 

erroneous part. If there is no error, mark Option 

5 as your answer.
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If she had (A)/ embarrassed me in front (B)/ 

of all my friends, I will (C)/ have hated her 

forever (D)/. No error (E)

1. B

2. C

3. D

4. AB

5. No error
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Eating nothing beside (A)/ string cheese and 

celery (B)/ for a week to lose weight (C)/ is 

not very healthy (D)/. No error (E)

1. A

2. B

3. D

4. AD

5. No error
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One of my cousin (A)/ is coming over (B)/ 

from France with (C)/ his wife and daughter 

(D)/. No error (E)

1. A

2. B

3. C

4. BC

5. No error
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The doctor was able (A)/ to treat the disease 

although (B)/ he could not laid his finger (C)/ 

on the exact cause (D)/. No error (E)

1. A

2. B

3. C

4. AB

5. No error
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It is good to have money to (A)/ buy things that 

money can buy, (B)/ otherwise it is better not to 

lose (C)/ things money cannot buy (D)/. No 

error (E)

1. B

2. C

3. CD

4. BD

5. No error
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Below a sentence is given which is divided into 

4 segments. Identify the segment of the 

sentence which contains the grammatical error. 

If there is no error, mark 'No error' as your 

answer.
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I. I can swim across the river when I was 

young. It felt like a cakewalk back then.

II. It can rain today so you should take your 

umbrella with you, just in case. 

1. Both I and II are incorrect 

2. Only sentence II has an error

3. Sentence II is correct but sentence I has 

more than one error

4. Only sentence I has an error

5. Sentence II and I are correct
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I. Before the accident that tore my hip 

fragments I could dance like a star.

II. Can I help you with your homework? you 

seem very distressed about it.

1. Both I and II are correct

2. Only I is correct 

3. Only II is correct

4. Sentence I is correct but Sentence II is 

incorrect.

5. Sentence II is correct but sentence I is 

incorrect.https://t.me/EnglishbyShaliniMam
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I. You might need to pay a little more 

attention to your appearance.

II. You might obey the laws. They were made 

for the safety of the public. It is your 

responsibility to do so.

1. Only I is incorrect.

2. Only II is correct.

3. Both I and II are incorrect

4. II is incorrect but I is correct.

5. Neither I nor II is correct. 
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Identify the segment of the sentence which 

contains the grammatical error. If there is no 

error mark ‘No error’ as your answer.
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If I go to Darjeeling/ (A) this winter,/ (B) I 

would positively watch the sunrise/ (C) on 

Tiger Hill. (D)

1. A

2. B

3. C

4. D

5. No error
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If you get me/ (A) the ingredients for/ (B) the 

cake now,/ (C) I might bake it before 5 pm. 

(D)

1. A

2. B

3. C

4. D

5. No error
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Select the most appropriate word to fill in the 

blank.
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The Lokpal files the case in court after the 

_______.

1. Provision

2. Investigation

3. Illusion

4. Character

5. Prevention
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Today the invasion and aggression against 

Ukraine have in effect cremated the _______ 

of BRICS.

1. Hooch

2. Spirit

3. Revenant

4. Wraith

5. Liquor
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Only a small fraction are convicts; the rest 

are _______.

1. Undertrials

2. Underpopulated

3. Understated

4. Underwhelmed

5. Underestimates
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Business is good so the company is _______ 

extra staff.

1. take out

2. take off

3. taking on

4. put off

5. Take apart
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India is developing more missile systems, 

including a hypersonic _______.

1. Incident

2. Objective

3. Variant

4. Status

5. Action
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After the Cold War ended, India _______ its 

purchases to dilute its dependence on 

Russia for arms.

1. Diversified

2. Classified

3. Betrothed

4. Plighted

5. None of the above

https://t.me/EnglishbyShaliniMam



https://t.me/EnglishbyShaliniMam

1. It laid the _______ of the relationship for two 

decades.

1. Intention

2. Diversion

3. Absorption

4. Foundation

5. None of the above
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In the given sentence, a blank is given 

indicating that a word is missing. Among the 

four given options, a combination of words fit 

the blank thereby making it grammatically and 

contextually correct. Choose that option as 

your response. 
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It was a rare delight to see her like this, in 

_______, her face relaxed and expressionless.

A. Replace

B. Repose

C. Active

D. Rest 

1. AB

2. BD

3. CD

4. BC

5. None of the abovehttps://t.me/EnglishbyShaliniMam
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These qualities ________ the character of 

Portia, and these go to accomplish a perfect 

woman.

A. Beautify

B. Adorn

C. Suspect

D. Trust

1. CD

2. DC

3. DB

4. BA

5. None of the above. 
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S

Provision must be made for the __________ emergency 

destruction of stored, undelivered messages, where necessary 

and when needed.

A. Change

B. Unalterable

C. Reversible

D. Irrevocable

1. AB

2. CD

3. DB

4. AD

5. None of these https://t.me/EnglishbyShaliniMam
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